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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.
Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

gus ‘A’ SECTION ‘A’

Yeud AR AaT ¥ S F qEA A A TeIH W | F IR F A IJULeh
Sereen grT fog |

Identify key differences between a manager and a leader. Justify your answer with
suitable examples. 10

e & faftrr gfeeror @1 & 7 Sugeh Sl afeq el SR e favemo &
it &t fadwand v @ wwE |

What are various approaches to management? Explain characteristics and
limitations of any 4 approaches to management analysis with suitable examples. 10

e SEeR R TR S & S # AR W | amriven st figra, whd
FqFe H Th forear ¥ 8 7

Differentiate between classical conditioning and operant conditioning. How is social
learning theory an extension of operant conditioning ? 10

“Fear A1 T 7 A % YEUST F S TF AR ¢ | GIGAHS GRadd & FaHT &
i gfewmr A v e |

“Change or Die!” is the rallying cry among today’s managers. Enumerate and
explain three approaches to managing organizational change. 10

U A R S % uflre 6 smawedr ¥ aR # SdeEAt oF 9Tt gehdil @
Fram | feoh ad ) o 9 wERal F forlt fohe weR & witerr wewl € |

Explain the kinds of signals that warn a manager about an employee requiring
training. What types of training are critical for employees going on an overseas
assignment ? 10

et Ud Sraie SRl % e Sfud Serewul afed SR W | w6 STHI & HEA
e it ggEE K |

Differentiate between ‘Entrepreneur’ and ‘Intrapreneur’ with suitable examples.
Identify key traits of a successful entrepreneur. 15

‘SN FEER S gRT $ 1 @ ardfacar f sgafy W osmarRka g g,
a1 5 arafiddr | |7 EAE FEER & AE H AT & W™ @l S9NR
a«égﬁwmmﬁmﬁﬁm’ﬁ%aﬁwﬁawﬁmﬁmmaﬁﬂ%%?

“People’s behaviour is based on their perception of what reality is, not on the reality
itself.” Comment on the statement, highlighting the importance of perception in the

study of Organisational Behaviour. What are the factors that influence perception ?
15
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2.(c)

3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

FafEal grRI FHAIRAT 1 oW 2 9 & 9F @1 quie | T R SEeiat %
HAITA 3R IATGHAT W I 9Tl THE TR 9] 3.7 39er @t & 7

Explain the rationale behind companies providing benefits to their employees. What

effect do companies expect, benefits will have on employee morale and productivity ?
20

FIfI2-19 FEMRI T T6-Tohd Jg FeT o1l h Sa<isy weamsii 7 Afvaeds srard
ATATART S Al &7 & AT foram R | TR SISIR 1 W 37 Wo1a &7 68y
# i & | IaAE Afeed FRIGRE aERe § g9 wa F o ud gaus §
ST T T A A e

Recent international events such as the pandemic Covid-19 and the Russian-Ukraine
war significantly impacted global business environment. Briefly evaluate its impact

on Indian business operations. Identify attributes and skill-sets required by a manager
to operate under the prevailing global business environment. 20

g F @RI fagidl & i frem qun ger dwnt wn € 2 Jan e yer @
Tgvee U@ favam & famfor Ry o @6 W us gERIHE UNE 2 a9 § 2

What are the central tenets and main limitations of behavioural theories of leader-
ship ? How can leaders have a positive impact on their organizations through building

trust and mentoring ? 15

Fr faseror F|r @ ?

freafafaa & o ik erfvat s
(i) sraetre fafy

(ii) T=a weamaet faftyr qen

(i) st fafer

“What is Job analysis ?

Identify the advantages and disadvantages of :

(i) Observation Method

(i1) Structured Questionnaire Method and
(1ii) Diary Method 15
efeh =, TR TH ¥ HAIA & VAT AR H qHAT | AT F A F g
R Td FASAAT H qeTH |
Explain the management concepts of Frederick W. Taylor and Henri Fayol. Identify
key differences between the two and their applicability. 15

AT Ted IR © fob AT A1, ST GG & FI6N FAT TAF F F9 9 & | 9
foar @ | e # 9 & Gwifad watexlia, @rearers vd safmrg @ w1 § 2

Researchers argue that challenge stressors operate quite differently from hindrance
stressors. Give your views. What are the potential environmental, organizational and

personal sources of stress at work ? 15
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4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

d.(e)

6.(a)

FRERX & U URARes =R T E ? T O IO A A B A7 qAG GG g T o
THId: FH WA 2 | 399 faERt & e 1 |

What are the five traditional career stages ? Which of the five stages is probably least
relevant to Human Resource Management ? Explain your view. 20

9vus ‘B’ SECTION ‘B’

focfta faazor &t fafirm dmst ) sy ot | 3 fofm woR & @ fem an oo
B T T gt @ 7

Highlight various limitations of financial statements. How can these be minimized

or resolved ? 10

Tt SR TF {51 99K A yq@ it ) g g |
Highlight the major differences between Capital Market and Money Market. 10

wiaer sag T € ? el @ wios-sedt #@  aeR & fd fufgg = &
FrEaFEHAT T B ® ?

What is a Futures Contract ? Why do exchanges require future contracts to be
marked to the market ? 10

e ASad qed 6 GheqaT & 99 & Ja1 Sfa ISl & 91y WTed ey
mmﬁwﬁmmmmlwaﬁammw%maﬁ%&
AT AT § ?

Explicate the concept of Customer Lifetime Value (CLV) and its applicability in
Customer Relationship Management (CRM) with suitable examples. How do IT
applications impact customer retention ? 10

WRA "o # gEaeRw e faRer i weean @ Sfua Serewn |fed wE SR
watta fames o= ® qw ey |

Explain the concept of transfer pricing with suitable examples and related regulatory
framework in Indian context. 10

Shr et wfa o kiR @ e B TegE 6 e Tt @
IAN BT |

Explain the circumstances under which different methods of depreciation can be
employed by giving suitable examples. 20
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6.(b)

A X100 par value bond bearing a coupon rate of 8% will mature after 5 years.

Interest is payable quarterly. What is the value of the bond, if the discount rate is

15

12% ? (Chart given for reference)
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6.(c) Tawm FuR fsor & wewea wwed | FreweR fRr weEd w6 anm g
SedTfed WRA & SEAKA IUrEdT aTelt bl % fauve ¥ w9R e 9w wo

T FRE @ fafga = |

Explain the concept of Marketing Communication Mix. Identify the factors Influ-
encing Communication Mix for marketing India’s finest quality Coffee produced by
Chikmagalur based Coffee Plantation Cooperative. 15

7.(a)  =AIRE whiew # awdm it smagear 61 St @ 2 Sudr St o § 2

Why is Budgetary control required in a business concern ? What are its limitations ?
15

7.(b) #sﬁﬁmaria&a:maﬁat(MIRR)w%?mﬁaﬁa&a;aaRR)aﬁwgg
A qd (NPV) & ol § 36 o a1 gifval #:1 @ |

What is modified internal rate of return (MIRR)? What are the pros and cons
of MIRR vis-a-vis IRR & NPV ? 15

7.(c) (i) UG Sfad =% I HheqdT qHed qu FEfafeg & R Sef wasgan
aaﬁ:
(1) MaTzd ®F
(2) =13
(i) IR f@ ™ ARt & @R ST =% F fAfm St F R Rovm oy
qAT= |

(i) Explain the concept of Product Life Cycle (PLC) and its applicability for the
following :
(1) Mobile phone
(2) Tea 10

(i) Suggest marketing strategies in different phases of PLC for the above products.
10
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8.(a)

8. (b)

8.(c)

# & T S ABC ffits ¥ @i @ W Qe s 3R SEd €
The data below relates to ABC Ltd. which makes and sells laptops.
February January

— fashit (za3) : 8000 12000

Sales (units)

_ I (3H13) 12000 8000
Production (units)

- yfy afte fsht /=@ (%) 120/- 120/-
Selling Price per unit (%)
— wfq gfe aRedda Iared ara (%) 60/- 60/-
Variable production cost per unit (3)
— fafsaa S st arE () 1,50,000/- | 1,50,000/-
Fixed production overhead incurred (%)

_ 9fy zaré fafsa Samga S 9,
N ¢ gEfaifia s s@EaeT ) (%) 10/- 10/-
Fixed production overhead cost per unit,
being the predetermined overhead absorption
rate (%)

_ fhy, o, wameR @m@ (B fafea) (%) 75,000/- | 75,000/
Selling, Distribution and Administration cost
(all fixed) ()

frafifed o1 STEN HA T ATH W HEW F fort e o faeor weqa
AT % :
(i) e H AR
(ii) dHE aRd
You are required to present comparative profit statements for each month using :
(i) Absorption costing
(ii) Marginal costing 20
i doe & wer FR 1 § 7 frafie wee & faftm wwon @ foet & o
AT ST ATt Seh e UHIfAl TR W STl |

What are the primary causes of corporate distress ? Highlight the appropriate
restructuring strategies that can be adopted to deal with different causes of corporate

distress. 15
S it ) e W o figd 5 adl d gE-EeR S 3 e frooe
gt F aRafia &% far € | o9 SR @ Sugeh Seredult gr Sfa fig e |

Identify key areas where Information and Communication Technology (ICT) has
transformed prevailing marketing practices in the past 5 years. Justify your answer
with suitable examples. 15
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